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N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 6/1

Munsell System Y,,=100, Mex

X,=96,79,Y,,~100,00Z,~111,46 B,

C=2,V=1,2,5,8 &9, Mex %y=0,3140y,,=0,3243 110 =y
ClgmEHeiy (6%3) Ag=(a0=[8g n*tap atag v]) Y — V=5
. — v=1 Bo=(bo=[bo,n*bo,a*bo,v]) Y — V=8
e ag = ago [X/Y] /
— bo = byo 214
ap=1, byg=-0,4 ( /‘\
1 1 N 1 I
n = Mex ~10 ! “\@ ! 10
Q = — ex,
o% 3 y=2ov(YV1571) 076 0,011
%95¢,E b, y=boy(Y/Y1g-1) T 0014 -0.010
8y=-0,017,0,y=0,012 0,003 -0,002
29 4=0,000,b,,=0,000 ~0,0220,016
CIE 1931 X Munsell System Y,,=100, Mex
T C=2,V=1,2,5,8&9, Mex T-10
0,0 0.2 0.4 0,6 0.8 1.0 chromatic value (g, Bg)
CE780-1A_6 CE780-2A_6
X,=96,79,Y,,=100,00Z,~111,46 B, Xu=96,79Y,,=100,00Z,~11146 B,

,3140y,,=0,3243 +10 - ﬁ% Xy=0,3140y,,=0,3243 T10 — ﬁ%
Ar=(ar—[ag ntag atay yl) Y — V=5 Ax=(ag—[ag rtag atazyl) Y — V=5
By=(b1=[by,ntby atby v]) Y — V=8 Bo=(by=[b b atbp v]) Y — V=8
a1 =ay [(x-0,171)/y] A a =ay [(x-0,171)/y] dL
by =byo[2/4] ;=50 [(MpyX+hp)/y]
ay =1, byp=-0,4 /) ay=1, byp=-0,4
M71=1,000,bp,=0.171 : L ; A.;l Mp1=-0,169,bp;=0,389 : /f‘— ; . AQZ
n = Mex -10 ‘ C 10 n = Mex -10 = 10

= Y/Yqg-1 ex = Y/Y1g~1] ex

al-Y_aZY( = ) | 0,012 -0,007 aZ'Y_aM el ) 0,012 -0,007
b1,v=Day(Y/Y15-1) +~ /0011 -0,007 bp,y=bav(Y/Y15-1) 0011 -0,007
ay=-0,013b,y=0,008 0,002 0,001 agy=-0,013,y=0,008 [ 0002 -0,001
a; x=0,000,b; 4=0,000 -0,0170,010 a 4=0,000,b 5=0,000 -0,0170,010
Munsell System Y,,=100, Mex Munsell System Y,,=100, Mex
C=2,Vv=1,2,5,8&9, Mex T-10 C=2,V=1,2,5,8 &9, Mex T-10
chromatic value (A, B;) chromatic value (A,, B)

CE780-3A_6 CE780-4A_6
X,=96,79Y,,=100,00Z,~11146 B, Xu=96,79Y,,=100,00Z,~11146 B,
Xy=0,3140y,,=0,3243 +10 - ﬁ% xw=0,3140y,,=0,3243 T10 — ﬁ%
Az=(ag-[ag ntag atagyl) Y — V=5 Ag=(ag-[a4 ntag ataayl) Y — V=5
B3=(bg=[b3,rtbs atbs v]) Y — v=8 B4=(b4=[04,rtbs, atba v]) Y — V=8
a3 = a0 [(x-0,173/y] 1 ay =2y [(x-0,179/y] 4L
b=y [(Mpx+bp1)/y] b=y [(Mpyx+hp)/y]
ay=1,byp=-04 ay=1, by=-04 /_3
Mp;=-0,974 610,658 : ) : A.;3 Mp;=-0,169,bp1=0,389 : =S A;t
n = Mex _10 / C/{ 10 n = Mex _10 - 10
2 y=apy(YV15-1) =" 012 —0.007 2,y=apy(YI¥1571) Mexo 012 -0,007,
b3 v=boy(Y/Y15-1) 1 0011 -0.007 by y=boy(Y/Y1g-1) 1 0011 -0.007
apy=-0,013,,=0,008 0,002 -0,001 ay=-0,013b,y=0,008 0,002 -0,001
a5 4=0,000,b5,4=0,000 ~0,0170,010 a4 4=0,000,b4 5=0,000 -0,0170,010
Munsell System Y,,=100, Mex Munsell System Y,,=100, Mex
C=2,Vv=1,2,5,8&9, Mex T-10 C=2,V=1,2,5,8 &9, Mex T-10
chromatic value (A3, Ba) chromatic value (A4, By)

CE780-5A_6 CE780-6A_6
X,=96,79,Y,,=100,00Z,~111,46 B, Xu=96,79Y,,=100,00Z,~11146 B,
Xy=0,3140y,,=0,3243 +10 - ﬁ% x=0,3140y,,=0,3243 T10 — ﬁ%
As=(as—[as ntas atas y]) Y — v=5 As=(ag—[35 n*3 atasy]) Y — v=5
Bg=(bs—[bs,r+bs5 A*bs v]) Y — v=8 Bg=(bs~[bg,n*b6,a*bs ) Y — V=8
a5=a,,{(+0,861x-0,719/-0,026)¥] 1 ag=a,{x/y] +
bg=by,,[(+0,19%+0,386/-0,240)¥] be=byy [(Mp1x+bp )yl
85,=1,00,05,=1,00 \ A p,=1,00,b,,=-0,40 / ﬁ
Ns,c.y,R=475,503,574,494c Enm [/ TN 1\ | 5 mo1=-0,974b0,=0658 (/LN |, As

f t t > } t t »

n = Mex -1 \/ 10 n = Mex -10 \LJ 10
3, y=apy(YV15-1) 0,012 -0,007 3,y=ay(Y/V15-1) M 0,015 —0,005
b y=oy(Y/Y1g=1) 0,011 0,007 b6, y=boy(Y/Y16-1) 0,014 -0.005
apy=-0,013,,=0,008 0,002 -0,001 ay=0,016,b,y=0,006 0,003 -0,001
a5 x=0,000,b5 4=0,000 ~0,0170,010 ag 4=0,000,b5 5=0,000 -0,0210,008
Munsell System Y,,=100, Mex Munsell System Y,,=100, Mex
C=2,V=1,2,5,8&9, Mex T-10 C=2,V=1,2,5,8 &9, Mex T-10
chromatic value (A, Bs) chromatic value (Ag, Bg)

CE780-7A_6 CE780-7N CE780-8A_6

o
O—10

Y M C
oS 520 525 Munsell System Y,,=100, Xy=96,79,Y,,=100,00,7,,=111,46 B*u
0,8 1 M, C=2,V=1,2,5,88&09, Mex Xy=0,3140y,,=0,3243 +10 — xii
oL CUEIELLY () * o=(ag~[ag n+ag a+a0.v]) Yae(Y/Y19 /3 — V=5
i — v=1 B*=(bg-[Do, b0, a*o,y]) Yas(Y/Y191 /3 — V=8
— = a9 = ag [x/y] +
—_ = bo = byo [ )
- a0= 1, byo=—0,4 A
. A* 0
, , , e
n = Mex -10 ' - g ' 10
X — X
o270 3,y=2(YV1571) 0,016 -0,011
7A95c,E bo,v=bz(/Y15-1) I 0014 -0010
ayy=-0,017,b,,=0,012 0,003 0,002
ag 4=0,000,by 4=0,000 -0,0220,016
CIE 1931 X Munsell System Y,,=100,
i C=2,V=1,2,5,8&9, Mex T-10
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*g, B*()
CE781-1A 6 CE781-2A 6
X=96,79,Y,=100,00Z,~111,46 B* X,=96,79,Y,,=100,00Z,~111,46 B*,,
Xy=0,3140y,,=0,3243 +10 — ﬁ% %y=0,3140y,,=0,3243 +10 - ﬁ%
A*=(ag-[ay tag atay v]) Yag(Y/Yi9 /3 — V=5 A*=(ag-[ay tay atay v]) Yag(Y/Y19 /3 — V=5
*1=(by=[by ity atby v]) Yo Y/Y19) 3 — V=8 B*5=(05[bs a4+, Y] Yae(Y/Y191 /3 — v=8
ay =ag [(x-0,171)/y] 4 ay =ay[(x-0,17Dh] 4L
by = byg [z b;=byg [(Mp1x+bp1)/Y]
a=1, byy=-0,4 / A* ay=1, byy=-0,4 | A*
mr1=1,000,b13=0,171 , ) . mp=-01690p=0389 AN e
n = Mex -10 ' % ' 10 n = Mex 10 ' =) 10
= — ex = — ex
3, y=2(YY1g1) 0,012 -0,007 2 y=2(Y151) 0,012 -0,007
by, y=ba(Y/Y1g-1) 1 0011 -0,007 b,y =boy(Y/Y15-1) 1 oo11 -0007
a2y=—0,013,b2y=0,008 0,002 -0,001 azy=—0,013,b2y=0,008 0,002 -0,001
ay 4=0,000,b; 5=0,000 -0,0170,010 ay 4=0,000,b, x=0,000 ~0,0170,010
Munsell System Y,,=100, Munsell System Y,,=100,
C=2,V=1,2,5,8&9, Mex T-10 C=2,V=1,2,5,8&9, Mex T-10
chroma (A*, B*,) chroma (A*, B*5)
CE781-3A_6 CE781-4A_6
X=96,79,Y,,=100,00Z,~111,46 B* X,=96,79,Y,,~100,00Z,~111,46 B* ,
Xy=0,3140y,,=0,3243 +10 — ﬁ% %w=0,3140y,,=0,3243 +10 - ﬁ%
A*3:(33_[33,n+a3,A+a3,Y])Y18(Y/Y18)5§ — V=5 *4:(a4_[a4.n+a4.A+a4.Y])Y18(Y/Yla)1g — V=5
* 37(b3=[l03 03 AtD3 v]) Y15(Y/Y19) — V=8 B* 4=(b4=[bs,n*bs a+ba v]) Y15(Y/Y15) — V=8
ag =ay [(x-0,171)/y] L a4 =a[(x-0,17Dh)] 4L
b3=byo [(Mp1x+0p1)/y] b;=byg [(Mp1x+bp1)/Y]
a=1,by=-04 * 30=1, by =-0,4 *
mp;=-0,974,b1=0,658 ' /1. 3/ ' A# 3 mp1=-0,169,0=0,389 ; //@ ; A# 4
n = Mex _10 @ /M 10 n = Mex -10 %% 10
= — ex = — ex
3 y=2(YY151) 0,012 -0,007 3 y=2(Y151) 0,012 0,007
b3, y=ba(Y/Y1g-1) 1 oo11 -0007 Y=by(Y1Y1g-1) 1 oo11 -0007
25,=-0,013 b,,=0,008 0,002 -0,001 85,=-0,013 b,,=0,008 0,002 -0,001
ag 4=0,000,b3 4=0,000 -0,0170,010 a4,4=0,000,b4 x=0,000 -0,0170,010
Munsell System Y,,=100, Munsell System Y,,=100,
C=2,V=1,2,5,8&9, Mex T-10 C=2,V=1,2,5,8&9, Mex T-10
chroma (A*3, B*3) chroma (A*4, B*4)
CE781-5A_6 CE781-6A_6
X=96,79,Y,=100,007,~111,46 B* , X,=96,79,Y,,=100,00Z,~111,46 B*
Xy=0,3140y,,=0,3243 T10 — ﬁ% %y=0,3140y,,=0,3243 +10 - ﬁ%
*5:(35_[35,n+35,A+aS,Y])Y18(Y/Y18)1;g — /=5 *6:(36_[aﬁ.n+aﬁ.A+aﬁ.Y])Y18(Y/Yla)1;2 — v=5
B*5=(bs5~[bs +bs Atbs v]) Y1g(Y/Y19) — V=8 B*6=(bg=[b6,n*bs,A*bg,v]) Y15(Y/Y15) — V=8
a5=a,,{(0,861x-0,719-0,026)¥] L g = agy [x/y] +
bs=by,[(0,199+0,386/-0,240)4] bg=hoy [(Mp1x+bp1)/y]
85,=1,00,b,,=1,00 " ap,=1,00,b,=—0,40 .
Ag,G,y,R=475,503,574,494¢,E nm f‘m n AL 5 mp;=—0,974,bp,=0,658 ' “] . N, AL 6
N S N L A " S /A
=a,(Y/Y15-1] S=Mex =a,(YIY1g-1 =Mex
§55~Y_§§VEY/Y18_1; 0,012 -0,007 ?'Y-ﬁiy(wv”’-li 0,015 -0,005
=02\ Y/Y1g 0,011 -0,007 6,y=D2y(Y/Y1g 0,014 -0,005
a2y=—0,013,b2y=0,008 0,002 -0,001 azy=—0,016,b2y=0,006 0,003 -0,001
a5,4=0,000,b5 4=0,000 ~0,0170,010 ap,4=0,000,b5 4=0,000 ~0,0210,008
Munsell System Y,,=100, Munsell System Y,,=100,
C=2,V=1,2,5,8&9, Mex T-10 C=2,V=1, 2,5,8 &9, Mex T-10
chroma (A*g, B*g) chroma (A*g, B*¢)
CE781-7A_6 CE781-7N CE781-8A_6

TUB-test chart CE78X, y), chromatic valuesA, B;), chroma A*;, B*;), adaptation: 5A=0, SY#0

Munsell Chroma2, Value=1,2,5,8 &9; experimental illuminant M (X, Y)vex=(0,3140, 0,3244)
C M Y [0] L WY
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